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403 X SHHSA=0l& 527,810 503,135 24,675
2 378,350
= 149,460
01 XM A=2E X 527,810 503,135 24,675
O=eg N B2 503,370
= 359,550
= 143,820
OMEIEXE SN 222 24,440
= 18,800
< 5,640
ZM0IE 2N 29 15,990 0 15,990
12,300




AN AHE =X
M AR MANARH
Selr dEjEd dX2e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 15,990 0 15,990
= 12,300
< 3,690
01 IXNHHBNEES 15,990 0 15,990
O=2Tol8 HuZAE 24 15,990
2 12,300
< 3,690
SHHZ S22 AMEIEA 2F 8,000 0 8,000
= 8,000
308 MtXIEHMSOH 8,000 0 8,000
= 8,000
01 X HHILEES 8,000 0 8,000
OSMHE SZ 2 MgEIEA 29 8,000
2 8,000
AT AY WOt G 12,000 12,000 0
2 8,400
< 3,600
301 et d = 12,000 12,000 0
2 8,400
< 3,600
NJIEEd=s 12,000 12,000 0
OLE ALY EtEHEIt 12,000
2 8,400
< 3,600
AT AlA 7,732,391 6,914,259 818,132
& 6,765,842
< 966,549
403 MtXISHH S A0l & 7,732,391 6,914,259 818,132
2 6,765,842
< 966,549
01 XM A=2EE 7,732,391 6,914,259 818,132
O AH 7,732,391
& 6,765,842
< 966,549
T 22 R0l 212,160 212,160 0
2 185,640
= 26,520
308 MHXIEHSOIH 212,160 212,160 0
= 185,640
< 26,520
01 AXHHIBLEXS 212,160 212,160 0
OgTzeld oAl 212,160
& 185,640
= 26,520
ZMH2sHEE 215,000 0 215,000




U

o g i

2N
X ZH -
L= B

el

>
>
> -

e o

0

0x

0z 0¥ 1x
m >
o

0
g
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200,000
15,000

H ooy

403 A X EHHS =0l A 215,000 0 215,000
200,000
15,000

ooy

01 HXSHH =L E 215,000 0 215,000
O=MHEsHEgd =4 215,000

200,000

15,000

H ooe

AEZAY EFE S EOt 148,956 142,656 6,300

104,269
44,687

o

401 AIEHIZ 2 I 148,956 142,656 6,300

104,269
44,687

Mo

01 A& HI 148,956 142,656 6,300
OAALY EtE S &t 148,956

104,269
44,687

o

AHALER S &0l & & 203,012 50,752 152,260
156,162
46,850

oW

308 MHXIEHMS0OIH 203,012 50,752 162,260
156,162
46,850

oy

01 AXSHHBAEES 203,012 50,752 152,260
O&FAMER & Z 0l & & 203,012

156,162

46,850
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255,104 229,418 25,686

178,573
76,531

H H

401 AIEBIZ S CHYI 255,104 229,418 25,686

178,573
76,531

Rl

01 A€ HI 255,104 229,418 25,686
OAMgEx-d el EtEd 8Ot 255,104

178,573
76,531

oW

SLEsd 13,009,860 9,063,789 3,946,071
2,668,041
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SN A =T
XN ZXH: A “E,
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©9: RYSIZH CERED
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

403 XX SHHS K20 ™ 3,750,000 750,000 3,000,000
= 2,500,000
& 1,250,000

01 XIS A=Z2E X 3,750,000 750,000 3,000,000
OHI0I 2468 Fy®e Xy 3,750,000
2 2,500,000
o= 1,250,000

MYME 2SHHE SR XS 1,300,000 650,000 650,000
2 1,000,000
o=} 300,000

403 XX SRS K 20| & 1,300,000 650,000 650,000
2 1,000,000
= 300,000

01 MXSHAHXNEE X 1,300,000 650,000 650,000
OMESME 2B SR X4 1,300,000
2 1,000,000
& 300,000

ANAsSE T4 5,040,000 5,206,500 A 166,500
2 3,360,000
= 1,680,000

403 XX SHHS K20 & 5,040,000 5,206,500 A 166,500
2 3,360,000
= 1,680,000

01 XS A2 X 5,040,000 5,206,500 A 166,500
ONIESY =4 90,000
2 60,000
= 30,000
OXse X8 HetArY 4,950,000
2 3,300,000
& 1,650,000

Agos =4 1,885,000 650,000 1,235,000
2 1,450,000
= 435,000

403 XX SHS K20 & 1,885,000 650,000 1,235,000
2 1,450,000
o 435,000

01 XS A2E X 1,885,000 650,000 1,235,000
OXgd=s =4 1,885,000
2 1,450,000
& 435,000

=Z=ol&EJI2d 45 516 90,638 N45,122
= 35,012
& 10,504

308 XAHXIGHMSOIA 45 516 90,638 N45,122
= 35,012
& 10,504
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

01 AXHHILEES 45,516 90,638 A45,122
O=di&l 28 XA 45,516
= 35,012
< 10,504

=ZME X Z A 109,223 140,996 A31,773
= 84,018
< 25,205

308 XtXIEHHSOIA 109,223 140,996 A31,773
2 84,018
= 25,205

01 HXNHHBHELS 109,223 140,996 A31,773
O=ZMEXZA 109,223
= 84,018
< 25,205

MAZEMEHOIS 2E0HURN 63,714 50,355 13,359
= 49,011
< 14,703

308 XX EHSOIA 63,714 50,355 13,359
2 49,011
< 14,703

01 HIXNHMBNEES 63,714 50,355 13,359
OLEMEIDIS 2H0LIN 63,714
= 49,011
< 14,703

=2 Z&gae 358,800 650,000 A 291,200
2 276,000
< 82,800

403 MtXISHHE X201 E 358,800 650,000 A 291,200
2 276,000
< 82,800

01 X SHHAN2E= 358,800 650,000 A 291,200
OMEASLZ FZH| 319,800
& 246,000
< 73,800
OEh2Z x4 39,000
2 30,000
< 9,000

oM Ed 2l 128,341 0 128,341
& 98,724
< 29,617

403 MtXISHHE =01 & 128,341 0 128,341
& 98,724
< 29,617

01 XM A=2EE 128,341 0 128,341
OxclatEdZExd 128,341
= 98,724
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Sl FYSHBH (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| [ 29,617
=2 WER3 = 289,266 0 289,266
2 222,512
& 66,754
403 XX SHHS K20 & 289,266 0 289,266
2 222,512
&< 66,754
01 AIXISHHMA=Z2E X 289,266 0 289,266
OxZUHE3a = 289,266
2 222,512
o= 66,754
=ol &I Astus 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
02 A2AtAMNEXZ 20,000 20,000 0
O=dl&lt dstus X 20,000
=MEgn=s 20,000 20,000 0
307 S12t0| & 20,000 20,000 0
02 QI2tAAMNE X2 20,000 20,000 0
O=Mdgns X 20,000
HAMSEAY (M=) 63,571 55,020 8,551
JlE&dl 63,571 55,020 8,551
Jl2&Hl 63,571 55,020 8,551
201 et d| 18,081 17,220 861
01 A2t 2| bl 18,081 17,220 861
OJlgfx=gl| 7,602
[OPIE==2=1:l 10,479
202 044 39,690 37,800 1,890
01 2L HI 39,690 37,800 1,890
o220yl 39,690
405 XHA&HF S HI 5,800 0 5,800
01 XA 2 ZF S| 5,800 0 5,800
O=ZzlH 4,000
OMEEZ Xt 1,800
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